

Provided for non-commercial research and educational use.
Not for reproduction, distribution or commercial use.

Serdica

Bulgariacae mathematicae publicationes

Сердика

Българско математическо списание

The attached copy is furnished for non-commercial research and education use only.
Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on
Serdica Bulgaricae Mathematicae Publicationes
and its new series Serdica Mathematical Journal
visit the website of the journal <http://www.math.bas.bg/~serdica>
or contact: Editorial Office
Serdica Mathematical Journal
Institute of Mathematics and Informatics
Bulgarian Academy of Sciences
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49
e-mail: serdica@math.bas.bg

ON THE DEPENDENCE OF THE DIFFERENTIAL PROPERTIES OF A FUNCTION ON ITS BEST ALGEBRAIC APPROXIMATION

KAMEN G. IVANOV

We investigate the following problem: if for some natural r the series $\sum_{v=1}^{\infty} v^{r-1} E_v(f)_p$ converges, where $E_v(f)_p$ is the best algebraic approximation of the function $f \in L_p[-1, 1]$ ($1 \leq p \leq \infty$), then what can we say about the existence of the derivatives of f and some of their structural properties.

1. Introduction. The problem we consider is one of the so called inverse problems in approximation theory. The investigations of that sort for trigonometrical approximation have been started by Bernstein and have been put in an appropriate form by Timan (see [1, p. 346]) and the corresponding references. The algebraic version is more complicated because of the effect of the ends. Nevertheless numerous articles dealing with this problem have appeared. Let us mention the following three papers: in [2] F u k s m a n considers the uniform approximation and use the local moduli of continuity; in [3] P o t a p o v deals with the L_p approximation but uses structural characteristics based on the modified translation concept; in [4] S t e n s connects F u k s m a n's results with results in terms of the modified transformation and the modified derivative in uniform metric. In the present article we give an algebraic analog of Timan's theorem [1, p. 346] using as a structural characteristic moduli based on the usual translation. As a consequence we get an equivalent form of the inverse part of F u k s m a n's results. The paper contains the proofs of some results announced in [5].

2. Definitions and preliminaries. We shall consider functions belonging to the spaces $L_p = L_p[-1, 1]$ ($1 \leq p \leq \infty$) with the norm $\|f\|_p = [\int_{-1}^1 |f(x)|^p dx]^{1/p}$ for $1 \leq p < \infty$. As usual when such problems are considered, $L_{\infty}[-1, 1]$ denotes $C[-1, 1]$, with sup norm. Let H_n be the set of all algebraic polynomials of a degree at most n . If $\omega \in C[-1, 1]$, $\omega \geq 0$, then the best L_p approximation of the function $f \in L_p[-1, 1]$ by elements of H_n with the weight ω is $E_n(\omega; f)_p = \inf \{ \|(f-Q)\omega\|_p : Q \in H_n \}$; $E_n(1; f)_p = E_n(f)_p$.

For $x \in [-1, 1]$; $t > 0$; $i, r, n \in \mathbf{N} = \{1, 2, \dots\}$ we set $\Delta(t, x) = t\sqrt{1-x^2+t^2}$; $\Delta_n(x) = \Delta(n^{-1}, x)$; $\psi_{r,i}(x) = \psi_i(x) = (1-x^2)^{i-r/2}$ for $[r/2] < i \leq r$ and $\psi_{r,i}(x) = 1$ for $1 \leq i \leq [r/2]$.

We shall need the following properties of $\Delta(t, x)$:

$$(2.1) \quad \begin{aligned} & \text{If } \lambda > 0, \quad x, y \in [-1, 1], \quad |x-y| \leq \lambda \Delta(t, x), \text{ then} \\ & \Delta(t, x)/(4\lambda+2) \leq \Delta(t, y) \leq (2\lambda+2)\Delta(t, x) \end{aligned}$$

The property (2.1) is proved under the additional conditions $\lambda \geq 1, 2\lambda t \leq 1$ in [6] — inequality (2.5). The proof of (2.1) is similar without these restrictions

Further on $c(A, B, \dots)$ will denote a positive constant depending only on the parameters in brackets. These constants may differ at each occurrence.

As structural characteristics we shall use the moduli ($k \in \mathbb{N}$)

$$(2.2) \quad \tau_k(f, \omega; \theta)_{q,p} = \|\omega(\cdot)\omega_k(f, \cdot; \theta(\cdot))_q\|_p,$$

where

$$(2.3) \quad \omega_k(f, x; \theta(x))_q = \left[\frac{1}{2\theta(x)} \int_{-\theta(x)}^{\theta(x)} |\Delta_v^k f(x)|^q dv \right]^{1/q}$$

for $1 \leq q < \infty$ and

$$\omega_k(f, x; \theta(x))_\infty = \sup \{ |\Delta_v^k f(x)| : |v| \leq \theta(x) \}.$$

In (2.3) the finite difference $\Delta_v^k f(x) = \sum_{i=0}^k (-1)^{k-i} \binom{k}{i} f(x+iv)$ is defined as 0 if x or $x+kv$ are not in $[-1, 1]$. In (2.2): θ may depend on various parameters and is positive being a function of $x \in [-1, 1]$; the weight ω is non-negative and continuous; $1 \leq p \leq \infty$; $1 \leq q \leq \infty$. For the properties of moduli (2.2) see [6]. Among these properties we shall use ($1 \leq p, q \leq \infty$, real α , $f, g \in L_p[-1, 1]$):

$$(2.4) \quad \tau_k(f+g, \omega; \theta)_{q,p} \leq \tau_k(f, \omega; \theta)_{q,p} + \tau_k(g, \omega; \theta)_{q,p};$$

$$(2.5) \quad \tau_k(f, \omega_1; \theta)_{q,p} \leq \tau_k(f, \omega_2; \theta)_{q,p} \text{ if } \omega_1(x) \leq \omega_2(x)$$

for each $x \in [-1, 1]$;

$$(2.6) \quad \tau_k(f, (n\Delta_n)^\alpha; \Delta_n)_{p,p} \leq c(k, \alpha) \|f(n\Delta_n)^\alpha\|_p;$$

$$(2.7) \quad \tau_k(f, (n\Delta_n)^\alpha; \Delta_n)_{p,p} \leq c(k, \alpha) n^{-k} \|f^{(k)}(n\Delta_n)^{\alpha+k}\|_p \text{ for } f^{(k)} \in L_p.$$

Let us mention that inequalities (2.4) and (2.5) follow immediately from (2.2); inequalities (2.6) and (2.7) are consequences of Theorem 4.1 and Corollary 4.3 in [6]. We shall need the following three inequalities about polynomials

$$(2.8) \quad \|Q'\|_p \leq cn^2 \|Q\|_p \text{ for each } Q \in H_n;$$

$$(2.9) \quad \|(\sqrt{1-x^2})^{k+\mu} Q^{(k)}(x)\|_p \leq c(k, \mu) n^k \|(\sqrt{1-x^2})^\mu Q(x)\|_p$$

for every $Q \in H_n, \mu \geq 0$;

$$(2.10) \quad \|(n\Delta_n)^{k+\mu} Q^{(k)}(x)\|_p \leq c(k, \mu) m^k \|(n\Delta_n)^\mu Q\|_p$$

for each $m \leq n$ and each $Q \in H_m, \mu \geq 0$.

Inequalities (2.8) and (2.9) are given in [7] and [8] respectively. Inequality (2.10) is proved in Corollary 5 in [9]. We shall also use the following obvious inequality

$$(2.11) \quad (a+b)^\alpha \leq 2^\alpha(a^\alpha + b^\alpha) \text{ for each } \alpha, a, b > 0.$$

We finish this section with

Lemma 1. *Let $1 \leq p \leq \infty, f \in L_p[-1, 1], \psi(x) = \sqrt{1-x^2}, \mu$ be real. Then*

$$|\tau_1(f\psi, (n\Delta_n)^\mu; \Delta_n)_{p,p} - \tau_1(f, \psi(n\Delta_n)^\mu; \Delta_n)_{p,p}| \leq c(\mu)n^{-1} \|(n\Delta_n)^\mu f\|_p.$$

Proof. Let $|x - y| \leq \Delta_n(x)$, $x, y \in [-1, 1]$. Then

$$|\psi(x) - \psi(y)| = \left| \int_x^y \frac{udu}{\sqrt{1-u^2}} \right| \leq \left| \int_x^y \frac{du}{\sqrt{1-u^2}} \right|.$$

Let $x = \cos t$ for some $t \in [0, \pi]$. In the above integral we set $u = \cos v$. Now Lemma 3 in [10] yields

$$|\psi(x) - \psi(y)| \leq \max \left\{ \int_t^{t+4n^{-1}} dt, \int_{t-4n^{-1}}^t dt \right\} = 4n^{-1}.$$

This inequality, (2.3) and the identity

$$f(x)\psi(x) - f(y)\psi(y) = [f(x) - f(y)]\psi(x) + f(y)[\psi(x) - \psi(y)]$$

give

$$|\omega_1(f\psi, x; \Delta_n)_p - \psi(x)\omega_1(f, x; \Delta_n)_p| \leq 4n^{-1} \left[\frac{1}{2\Delta_n(x)} \int_{J(x, \Delta_n(x))} |f(y)|^p dy \right]^{1/p},$$

where $J(x), g(x) = [x - g(x), x + g(x)] \cap [-1, 1]$. Now using Lemma 2.2 in [6] and (2.1) we get

$$\begin{aligned} & |\tau_1(f\psi, (n\Delta_n)^\mu; \Delta_n)_{p,p} - \tau_1(f, \psi(n\Delta_n)^\mu; \Delta_n)_{p,p}| \\ & \leq \frac{4}{n} \left[\int_{-1}^1 \frac{(n\Delta_n(x))^{\mu p}}{2\Delta_n(x)} \int_{J(x, \Delta_n(x))} |f(y)|^p dy dx \right]^{1/p} \\ & \leq \frac{4}{n} \left[\int_{-1}^1 |f(y)|^p \int_{J(y, (2+\sqrt{3})\Delta_n(y))} \frac{(n\Delta_n(x))^{\mu p}}{2\Delta_n(x)} dx dy \right]^{1/p} \\ & \leq c(\mu)n^{-1} \left[\int_{-1}^1 |(n\Delta_n(y))^\mu f(y)|^p dy \right]^{1/p} = c(\mu)n^{-1} \| (n\Delta_n)^\mu f \|_p. \end{aligned}$$

3. The main theorem. Theorem 1. Let $f \in L_p[-1, 1]$ ($1 \leq p \leq \infty$) and the series $\sum_{v=1}^\infty v^{r-1} E_v(f)_p$ converge for some $r \in \mathbf{N}$. Then $f = F$ almost everywhere, if $p < \infty$, or $f = F$, if $p = \infty$, F has $(r-1)$ st locally absolutely continuous derivative in $(-1, 1)$, $F^{(i)}, \psi_{r,i} \in L_p[-1, 1]$ for $i = 1, 2, \dots, r$ and

$$(3.1) \quad \begin{aligned} & \tau_k(F^{(i)}, (n\Delta_n)^i; \Delta_n)_{p,p} \\ & \leq c(k, r) [n^{-k} \sum_{\mu=0}^n (\mu+1)^{i+k-1} E_\mu(f)_p + n^{-i} \sum_{\mu=n+1}^\infty \mu^{2i-1} E_\mu(f)_p] \end{aligned}$$

for $i = 0, 1, \dots, \rho = [r/2]$;

$$(3.2) \quad \begin{aligned} & \tau_k(F^{(i)}\psi_{r,i}, (n\Delta_n)^{r-i}; \Delta_n)_{p,p} \\ & \leq c(k, r) [n^{-k} \sum_{\mu=0}^n (\mu+1)^{i+k-1} E_\mu(f)_p + n^{i-r} \sum_{\mu=n+1}^\infty \mu^{r-1} E_\mu(f)_p] \end{aligned}$$

for $i = \rho + 1, \rho + 2, \dots, r$ for $k = 1$, if r is odd, or for each k , if r is even.

Remark. If the function φ is not a constant in the interval $[-1, 1]$, then the orders of the moduli of a function g and the function $g\varphi$ are different in general. If φ has a continuous k th derivative for $k = 1, 2, \dots$, or φ

satisfies certain weaker conditions for $k=1$, then the orders of the k th moduli of g and $g\phi$ coincide in many cases (but not always, e. g. $g \in H_{k-1}$). Thus, the behaviour of the moduli of $g\phi$ is not significant enough for the structure of g . But it is impossible to omit the factor $\psi_{r,i}$ in (3.2) because it prevents a possible fast increasing of $F^{(i)}$ at the end-points of the interval and ensures $F^{(i)}\psi_{r,i} \in L_p$. On the other hand, this increasing cannot influence the good approximation of F because of the properties of the algebraic polynomials as an approximating system. Let us mention that the factor $\psi_{r,i}$ also occurs in Fuksman's [2] and Stens' [4] articles.

Proof of Theorem 1. We follow the idea of [1, p. 346]. Let P_v be the polynomial of the best L_p approximation of f of degree v , i. e.

$$(3.3) \quad E_v(f)_p = \|f - P_v\|_p.$$

For $i=0, 1, \dots, r$ we consider the sequence $S_n^{(i)} = p_1^{(i)} + \sum_{v=0}^{n-1} \{p_{2^{v+1}}^{(i)} - p_{2^v}^{(i)}\}$.

a) $i=0, 1, \dots, \rho$. Then (2.8) and (3.3) give

$$\begin{aligned} & \|p_{2^{v+1}}^{(i)} - p_{2^v}^{(i)}\|_p \leq c(i)2^{(v+1)2i} \|p_{2^{v+1}} - p_{2^v}\|_p \\ & \leq c(i)2^{(v+1)r} \{ \|p_{2^{v+1}} - f\|_p + \|p_{2^v} - f\|_p \} \leq c(i)2^{(v-1)(r-1)+2r+v-1} \cdot 2E_{2^v}(f)_p \\ & \leq c(i)2^{2r+1} \sum_{\mu=2^{v-1}+1}^{2^v} (2^{v-1})^{r-1} E_{2^\mu}(f)_p \leq c(i, r) \sum_{\mu=2^{v-1}+1}^{2^v} \mu^{r-1} E_\mu(f)_p. \end{aligned}$$

Hence for $m > n \geq N$ we have

$$\begin{aligned} \|S_n^{(i)} - S_m^{(i)}\|_p &= \left\| \sum_{v=n}^{m-1} (p_{2^{v+1}}^{(i)} - p_{2^v}^{(i)}) \right\|_p \leq \sum_{v=n}^{m-1} \|p_{2^{v+1}}^{(i)} - p_{2^v}^{(i)}\|_p \\ &\leq c(r, i) \sum_{\mu=2^{n-1}+1}^{2^{m-1}} \mu^{r-1} E_\mu(f)_p \leq c(r, i) \sum_{\mu=2^{N-1}+1}^{\infty} \mu^{r-1} E_\mu(f)_p. \end{aligned}$$

Therefore, the sequence $\{S_n^{(i)}\}_{n=1}^{\infty}$ converges in $L_p[-1, 1]$ to $f_i \in L_p$.

b) $i = \rho + 1, \rho + 2, \dots, r$. Then (2.8), (2.9) and (3.3) give

$$\begin{aligned} & \|(p_{2^{v+1}}^{(i)} - p_{2^v}^{(i)})\psi_i\|_p = \|(p_{2^{v+1}} - p_{2^v})^{(i)}(x)(\sqrt{1-x^2})^{2i-r}\|_p \\ & \leq c(r)(2^{v+1})^{2i-r} \|(p_{2^{v+1}} - p_{2^v})^{(i+r-2i)}\|_p \leq c(r)(2^{v+1})^{2i-r+2(r-i)} \|p_{2^{v+1}} - P_{2^v}\|_p \\ & \leq c(r)(2^{v+1})^r E_{2^v}(f)_p. \end{aligned}$$

Arguing as in a) we get that the sequence $\{S_n^{(i)}\psi_i\}_{n=1}^{\infty}$ converges in $L_p[-1, 1]$ to $g_i = \psi_i f_i \in L_p$. Hence there is a subsequence $\{S_{n_m}^{(i)}\}_{m=1}^{\infty}$ such that for each $i=0, 1, \dots, r$ we have

$$(3.4) \quad S_{n_m}^{(i)} \psi_i \xrightarrow{m \rightarrow \infty} f_i \psi_i \text{ (a. e.) and } \|(S_{n_m}^{(i)} - f_i) \psi_i\|_p \xrightarrow{m \rightarrow \infty} 0.$$

Let $x_0 \in (-1, 1)$ be such that

$$(3.5) \quad S_{n_m}^{(i)}(x_0) \xrightarrow{m \rightarrow \infty} f_i(x_0) \text{ for } i=0, 1, \dots, r.$$

Let $x, x_0 \in [-y, y]$ for $y \in]1/2, 1)$. For $i=1, 2, \dots, r$ we set $\Phi(x) = f_{i-1}(x) - f_{i-1}(x_0) - \int_{x_0}^x f_i(t) dt$. Then

$$\begin{aligned} |\Phi(x)| &= |f_{i-1}(x) - S_{n_m}^{(i-1)}(x) - f_{i-1}(x_0) + S_{n_m}^{(i-1)}(x_0) - \int_{x_0}^x [f_i(t) - S_{n_m}^{(i)}(t)] dt| \\ &\leq |f_{i-1}(x) - S_{n_m}^{(i-1)}(x)| + |f_{i-1}(x_0) - S_{n_m}^{(i-1)}(x_0)| + \int_{-y}^y |f_i(t) - S_{n_m}^{(i)}(t)| dt. \end{aligned}$$

Hence

$$\begin{aligned} (3.6) \quad & \|\Phi\|_{L_p[-y, y]} \\ & \leq \|f_{i-1} - S_{n_m}^{(i-1)}\|_{L_p[-y, y]} + (2y)^{1/p} \{ |f_{i-1}(x_0) - S_{n_m}^{(i-1)}(x_0)| + \int_{-y}^y |f_i(t) - S_{n_m}^{(i)}(t)| dt \} \\ & \leq \|\Psi_{i-1}(f_{i-1} - S_{n_m}^{(i-1)})\|_{L_p[-y, y]} / \Psi_{i-1}(y) + 2 |f_{i-1}(x_0) - S_{n_m}^{(i-1)}(x_0)| \\ & \quad + 2 \|\Psi_i(f_i - S_{n_m}^{(i)})\|_{L_i[-y, y]} / \Psi_i(y) \\ & \leq \|\Psi_{i-1}(f_{i-1} - S_{n_m}^{(i-1)})\|_{L_p[-y, y]} / \Psi_{i-1}(y) + 2 |f_{i-1}(x_0) - S_{n_m}^{(i-1)}(x_0)| \\ & \quad + 4 \|\Psi_i(f_i - S_{n_m}^{(i)})\|_{L_p[-y, y]} / \Psi_i(y). \end{aligned}$$

Let m tend to infinity in the last line of (3.6). Then using (3.4) and (3.5) we get $\|\Phi\|_{L_p[-y, y]} = 0$. Since y can be chosen arbitrarily closed to 1, we have $f_{i-1}(x) = f_{i-1}(x_0) + \int_{x_0}^x f_i(t) dt$ a. e. in $(-1, 1)$ for $i=1, 2, \dots, r$.

Remark 2. Here "a. e." means "for almost all x " if $p < \infty$ and "for all x " if $p = \infty$.

Therefore f coincides a. e. with a function F having $r-1$ st locally absolutely continuous derivative in $(-1, 1)$ and $F^{(p)} \in L_p[-1, 1], F^{(i)} \Psi_i \in L_p[-1, 1]$ for $i = p+1, p+2, \dots, r$.

We shall now prove (3.1), i. e. $i=0, 1, \dots, p$. We set $m = [\ln n / \ln 2] + 1$. Then (2.4) give

$$(3.7) \quad \tau_k(f^{(i)}, (n\Delta_n)^i; \Delta_n)_{p,p} \leq \tau_k(f^{(i)} - S_m^{(i)}, (n\Delta_n)^i; \Delta_n)_{p,p} + \tau_k(S_m^{(i)}, (n\Delta_n)^i; \Delta_n)_{p,p}.$$

Using (2.4), (2.7) and (2.10) we get

$$\begin{aligned} (3.8) \quad & \tau_k(S_m^{(i)}, (n\Delta_n)^i; \Delta_n)_{p,p} \leq \tau_k(p_1^{(i)}, (n\Delta_n)^i; \Delta_n)_{p,p} \\ & \quad + \sum_{v=0}^{m-1} \tau_k(p_{2^{v+1}}^{(i)} - p_{2^v}^{(i)}, (n\Delta_n)^i; \Delta_n)_{p,p} \\ & \leq c(k) \{ \|n^i(\Delta_n)^{k+1}(p_1^{(i+k)} - p_0^{(i+k)})\|_p + \sum_{v=0}^{m-1} \|n^i(\Delta_n)^{k+i}(p_{2^{v+1}}^{(i+k)} - p_{2^v}^{(i+k)})\|_p \} \\ & \leq c(k) \cdot n^{-k} \{ \|p_1 - p_0\|_p + \sum_{v=0}^{m-1} 2^{(v+1)(k+i)} \|p_{2^{v+1}} - p_{2^v}\|_p \} \\ & \leq c(k) n^{-k} \sum_{\mu=0}^n (\mu+1)^{k+i-1} E_\mu(f)_p. \end{aligned}$$

From (2.6), (2.11), (2.9) and (2.8) we obtain

$$\begin{aligned}
 (3.9) \quad & \tau_k(f^{(i)} - S_m^{(i)}, (n\Delta_n)^i; \Delta_n)_{p,p} \leq c(k) \| (f^{(i)} - S_m^{(i)})(n\Delta_n)^i \|_p \\
 & \leq c(k, i) \sum_{v=m}^{\infty} \| (p_{2^{v+1}}(x) - p_{2^v}^{(i)}(x))(\sqrt{1-x^2})^i \|_p + n^{-i} \| p_{2^{v+1}}^{(i)} - p_{2^v}^{(i)} \|_p \} \\
 & \leq c(k, i) \sum_{v=m}^{\infty} \{ 2^{(v+1)i} \| p_{2^{v+1}} - p_{2^v} \|_p + n^{-i} 2^{(v+1)2i} \| p_{2^{v+1}} - p_{2^v} \|_p \} \\
 & \leq c(k, i) n^{-i} \sum_{v=m}^{\infty} 2^{(v+1)2i} \| p_{2^{v+1}} - p_{2^v} \|_p \leq c(k, i) n^{-i} \sum_{\mu=n+1}^{\infty} \mu^{2i-1} E_{\mu}(f)_p.
 \end{aligned}$$

Inequalities (3.7), (3.8) and (3.9) prove (3.1).

We shall now prove (3.2), i. e. $i = \rho + 1, \rho + 2, \dots, r$. Let k, r be those from the condition of the theorem and $m = [\ln n / \ln 2] + 1$. Then (2.4) give

$$\begin{aligned}
 (3.10) \quad & \tau_k(F^{(i)}\psi_i, (n\Delta_n)^{r-i}; \Delta_n)_{p,p} \\
 & \leq \tau_k((F^{(i)} - S_{m+1}^{(i)})\psi_i, (n\Delta_n)^{r-i}; \Delta_n)_{p,p} + \tau_k(S_{m+1}^{(i)}\psi_i, (n\Delta_n)^{r-i}, \Delta_n)_{p,p}.
 \end{aligned}$$

Using (2.6), (2.11), (2.9), (2.8) and the inequality $n 2^{-m} \leq 1$ we get

$$\begin{aligned}
 (3.11) \quad & \tau_k((F^{(i)} - S_{m+1}^{(i)})\psi_i, (n\Delta_n)^{r-i}; \Delta_n)_{p,p} \leq c(k, r) \| (F^{(i)} - S_{m+1}^{(i)})\psi_i (n\Delta_n)^{r-i} \|_p \\
 & \leq c(k, r) n^{r-i} \sum_{v=m+1}^{\infty} \{ \| (p_{2^{v+1}}(x) - p_{2^v}(x))^{(i)} (1-x^2)^{i/2} \|_p \\
 & \quad + n^{i-r} \| (p_{2^{v+1}}(x) - p_{2^v}(x))^{(i)} (1-x^2)^{i-r/2} \|_p \} \\
 & \leq c(k, r) \sum_{v=m+1}^{\infty} \{ 2^{(v+1)i} \| p_{2^{v+1}} - p_{2^v} \|_p + n^{i-r} 2^{(v+1)(2i-r+2(r-i))} \| p_{2^{v+1}} - p_{2^v} \|_p \} \\
 & \leq c(k, r) \sum_{v=m+1}^{\infty} [1 + (n 2^{-v-1})^{-i+r}] n^{i-r} 2^{(v+1)r} (\| p_{2^{v+1}} - f \|_p + \| p_{2^v} - f \|_p) \\
 & \leq c(k, r) n^{i-r} \sum_{v=m+1}^{\infty} 2^{(v+1)r} E_{2^v}(f)_p \leq c(k, r) n^{i-r} \sum_{\mu=n+1}^{\infty} \mu^{r-1} E_{\mu}(f)_p.
 \end{aligned}$$

When proving (3.11) we do not pay attention whether r is even or odd because we do not use the differential properties of modulus τ_k .

Let first r be even ($r = 2\rho$). Then $\psi_{r,i}(x) = (1-x^2)^{i-\rho}$ is a polynomial of degree $2(i-\rho)$, i. e. the function $\psi_{r,i}$ has not any singularities at the end-points of the interval. Therefore we can prove (3.2) for arbitrary k .

Using (2.7) and (2.10) we get

$$\begin{aligned}
 (3.12) \quad & \tau_k(S_{m+1}^{(i)}\psi_i, (n\Delta_n)^{r-i}, \Delta_n)_{p,p} \leq c(k, r) n^{-k} \| (n\Delta_n)^{k+r-i} (S_{m+1}^{(i)}\psi_i)^{(k)} \|_p \\
 & \leq c(k, r) n^{-k} \{ \| (n\Delta_n)^{k+r-i} (p_1^{(i)}\psi_i)^{(k)} \|_p + \sum_{v=0}^m \| (n\Delta_n)^{k+r-i} [(p_{2^{v+1}}^{(i)} - p_{2^v}^{(i)})\psi_i]^{(k)} \|_p \} \\
 & \leq c(k, r) n^{-k} \{ (2(i-\rho))^k \| (n\Delta_n)^{r-i} p_1^{(i)}\psi_i \|_p + \sum_{v=0}^m (2(i-\rho)2^{v+1})^k \| (n\Delta_n)^{r-i} (p_{2^{v+1}}^{(i)}
 \end{aligned}$$

$$\begin{aligned}
 -p_{2^v}^{(i)}\psi_i \|_{\rho} \} &\leq c(k, r)n^{-k} \{ \| (n\Delta_n)^i(p_1^{(i)} - p_0^{(i)}) \|_{\rho} + \sum_{v=0}^m 2^{(v+1)k} \| (n\Delta_n)^i(p_{2^{v+1}}^{(i)} - p_{2^v}^{(i)}) \|_{\rho} \} \\
 &\leq c(k, r)n^{-k} \{ \| p_1 - p_0 \|_{\rho} + \sum_{v=0}^m 2^{(v+1)(k+i)} \| p_{2^{v+1}} - p_{2^v} \|_{\rho} \} \\
 &\leq c(k, r)n^{-k} \{ E_0(f)_{\rho} + \sum_{v=0}^m 2^{(v+1)(k+1)} E_{2^v}(f)_{\rho} \} \leq c(k, r)n^{-k} \sum_{\mu=0}^n (\mu+1)^{k+i-1} E_{\mu}(f)_{\rho}.
 \end{aligned}$$

Now (3.10), (3.11) and (3.12) prove (3.2) for even r .

Let r be odd ($r=2\rho+1$). Therefore, $\psi_{r,i}$ is not a polynomial and has singularities at the end-points of the interval. Using Lemma 1, (2.7), (2.10) and (2.5) we get

$$\begin{aligned}
 (3.13) \quad &\tau_1(S_{m+1}^{(i)}\psi_i, (n\Delta_n)^{r-i}; \Delta_n)_{\rho,p} \\
 &\leq \tau_1(S_{m+1}^{(i)}(1-x^2)^{i-\rho-1}, \sqrt{1-x^2}(n\Delta_n)^{r-1}; \Delta_n)_{\rho,p} + c(r)n^{-1} \| S_{m+1}^{(i)}\psi_i(n\Delta_n)^{r-i} \|_{\rho} \\
 &\leq \tau_1(S_{m+1}^{(i)}(1-x^2)^{i-\rho-1}, (n\Delta_n)^{r-i+1}; \Delta_n)_{\rho,p} + c(r)n^{-1} \| S_{m+1}^{(i)}(n\Delta_n)^i \|_{\rho} \\
 &\leq c(r)n^{-1} \| (n\Delta_n)^{r-i+2}(S_{m+1}^{(i)}(1-x^2)^{i-\rho-1})' \|_{\rho} + c(r)n^{-1} \| S_{m+1}^{(i)}(n\Delta_n)^i \|_{\rho} \\
 &\leq c(r)n^{-1} \{ \| (n\Delta_n)^{r-i+2}(p_1^{(i)}(x)(1-x^2)^{i-\rho-1})' \|_{\rho} + \| p_1^{(i)}(n\Delta_n)^i \|_{\rho} \} \\
 + \sum_{v=0}^n & [\| n\Delta_n)^{r-i+2}((p_{2^{v+1}}^{(i)}(x) - p_{2^v}^{(i)}(x))(1-x^2)^{i-\rho-1})' \|_{\rho} + \| (p_{2^{v+1}}^{(i)} - p_{2^v}^{(i)})(n\Delta_n)^i \|_{\rho}] \\
 &\leq c(r)n^{-1} \{ \| (n\Delta_n)^{r-i+1}p_1^{(i)}(x)(\sqrt{1-x^2})^{2i-r-1} \|_{\rho} + \| p_1^{(i)}(n\Delta_n)^i \|_{\rho} \\
 &\quad + \sum_{v=0}^m [2^{v+1} \| (n\Delta_n)^{r-i+1}(p_{2^{v+1}}^{(i)}(x) - p_{2^v}^{(i)}(x))(\sqrt{1-x^2})^{2i-r-1} \|_{\rho} \\
 &\quad + \| (p_{2^{v+1}}^{(i)} - p_{2^v}^{(i)})(n\Delta_n)^i \|_{\rho}] \} \leq c(r)n^{-1} \{ \| (n\Delta_n)^i(p_1^{(i)} - p_0^{(i)}) \|_{\rho} \\
 &\quad + \sum_{v=0}^m 2^{v+1} \| (n\Delta_n)^i(p_{2^{v+1}} - p_{2^v})^{(i)} \|_{\rho} \} \leq c(r)n^{-1} \sum_{\mu=0}^n (\mu+1)^i E_{\mu}(f)_{\rho}.
 \end{aligned}$$

We complete the proof of the theorem by applying (3.11) and (3.13) in (3.10).

4. Corollaries. 1. Under the conditions of Theorem 1 for every $k \in \mathbf{N}$ and $\alpha > \rho$ we have

$$\begin{aligned}
 (4.1) \quad E_{n+k}((n\Delta_n)^{\rho}; F^{(\rho)})_{\rho} &\leq c(k, r)[n^{-k} \sum_{\mu=0}^n (\mu+1)^{\rho+k-1} E_{\mu}(f)_{\rho} \\
 &\quad + n^{-\rho} \sum_{\mu=n+1}^{\infty} \mu^{2\rho-1} E_{\mu}(f)_{\rho}].
 \end{aligned}$$

We get (4.1) as a consequence of Theorem 1 and Stečkin's type assertion ($g \in L_{\rho}[-1, 1]$)

$$E_{n+k}((n\Delta_n)^{\rho}; g)_{\rho} \leq c(\rho, k) \tau_k(g, (n\Delta_n)^{\rho}; \Delta_n)_{\rho,p}$$

proved in [11].

2. Under the conditions of Theorem 1 we have for $\alpha > \rho$

$$(4.2) \quad E_n(f)_p = 0 \quad (n^{-\rho-\alpha}) \Leftrightarrow E_n((n\Delta_n)^\rho; F^{(\rho)})_p = 0 \quad (n^{-\alpha}).$$

(4.2) follows from Corollary 1 and the inequality

$$(4.3) \quad E_{n+\rho}(f)_p \leq c(\rho)n^{-\rho} E_n((n\Delta_n)^\rho; F^{(\rho)})_p$$

proved in [9]. (4.1) and (4.3) show that $E_n(f)_p$ is naturally connected with the weighted approximation $E_n((n\Delta_n)^\rho; F^{(\rho)})_p$ of the derivative $F^{(\rho)}$ but not with $E_n(F^{(\rho)})_p$.

3. Using the simple fact that

$$\frac{1}{1+\sqrt{2}} t \leq \frac{\varepsilon}{\sqrt{1-x^2+\sqrt{\varepsilon}}} \leq t$$

for $\varepsilon = \Delta(t, x)$, we get the inverse part of Fuksman's result in [2] as a consequence of Theorem 1.

REFERENCES

1. А. Ф. Тиман. Теория приближения функции действительного переменного. Москва, 1960.
2. А. Л. Фуксман. Структурная характеристика функций, у которых $E_n(f; -1, 1) \leq M_n^{-(k+\alpha)}$. *Успехи мат. наук*, **20**, 1965, **4**, 187—190.
3. М. К. Потапов. О приближении многочленами Якоби *Вестн. Моск. ун-та. сер. мат.-мех.*, № 5, 1977, 70—82.
4. R. L. Stens. Charakterisierungen der besten algebraischen Approximation durch lokale Lipschitzbedingungen. *Lecture Notes in Math.*, **556**, 403-415.
5. K. G. Ivanov. Some characterizations of the best algebraic approximation in $L_p[-1, 1]$ ($1 \leq p \leq \infty$). *C. R. Acad. bulg. Sci.*, **34**, 1981, 1229-1232.
6. K. G. Ivanov. On a new characteristic of functions. *Serdica*, **8**, 1982, 262-279.
7. G. Szegő, E. Hille, J. Tamarkin. *Duke Math. J.*, **3**, 1937, 729.
8. С. В. Конягин. Оценки производных от многочленов. *Доклады АН СССР*, **243**, 1978, 1116—1118.
9. K. G. Ivanov. On a new characteristic of functions. II. *Pliska*, **5**, 1983, 151—163.
10. K. G. Ivanov. On the on-sided algebraical approximation in L_p . *C. R. Acad. bulg. Sci.*, **32**, 1979, 1037—1040.
11. K. G. Ivanov. A constructive characteristic of best algebraic approximation in $L_p[-1, 1]$ ($1 \leq p \leq \infty$). In: *Constructive Function Theory '81*, 357-367, Sofia, 1983.

Centre for Mathematics and Mechanics
Sofia 1090 P. O. Box 373

Received 24. 3. 1982